HEBUEALRIH

F_SHE—HIN BT H=XEMNIARR)

YNEUVE SE LT e

(B) Frk30F4H1H

() ¥31F3H31H

(841 : A)
BENE LEERE(A) B RE(B) IER(A)-(B)

NIRRT 790, 265, 579 733, 665, 098 56, 600, 431

F NGB BRI 0 0 0
SR RN 0 0 0
REBHINZ 0 0 0

| EE s 0 0 0
BT -CAZ BRI 0 0 0

| T e s 0 0 0
|| |EEEs 0 0 0
| |EEEEs 0 69, 000 -69, 000
ZORIDURZS 0 0 0

A [p-tzEsmpasst (1) 790, 265, 579 733, 7134, 098 56, 531, 481
=ININE 499, 470, 125 439, 462, 487 60, 007, 638
8| |=zsm 136, 522, 534 103, 886, 542 32, 635, 992
m |E=EE 153, 486, 807 127, 963, 591 25,523,216
W |PeiEszEm 0 0 0
ol . [EEBZER 0 0 0
| B\ ImEaasmEs 0 0 0
= R e A B 73,526, 188 55,425,015 18,101,173
BRSBTS EEEE -17,501, 664 -13, 565, 553 -3,936, 111
BURAAERE 0 115, 543 -115, 543
BUNTREER | DR 0 0 0
ZOMDER 0 0 0
Y- EENERET (2) 845, 503, 990 713, 287, 625 132, 216, 365
YEXEBMERESE (3) = (1) — (2) 55, 238, 411 20, 446, 473 75, 684, 884
EASHSBIEINGS 0 0 0
SZHF SES S N 9, 644 2,649 6,995
BT ETm2s 0 0 0
BIMEES 5502 0 0 0

T\ IR s e s 5 S 0 0 0
|| %% |samiasrsssings 0 0 0
Bl |EAmETms 0 0 0
z| |ErEETms 0 0 0
= [zofhoy—tEESRE 4,721,869 3,637, 670 1,084, 199
#| | —CXEBIMRSEL (4) 4,731,513 3, 640, 319 1,001, 194
o] LR 13,714, 809 15,718, 933 =2, 004, 124
| [AAESEHEA 0 0 0
Bl | 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
| | BB 7R 0 0 0
ap| " | EARAEE SIS 0 0 0
T AR e 0 0 0
ZOfhDY—E R EENIEE 0 0 0
H—EEEEREE (5) 13, 714, 809 15,718, 933 —2.004, 124
H-CARBINEREE (6) = (4) — (5) g, 983, 296 12,078, 614 3,095,318
EEEREE (7) = (3) + (6) —64, 221, 707 8, 367, 859 —72, 539, 566
MRS RE RIS 424,468, 245 25, 410, 000 399, 058, 245
MBS R B M B INZS 10, 000, 000 20, 000, 000 -10, 000, 000

p| EEEASEA R TRISRSHSING 0 0 0

| EE SR 0 0 0

| |BERESEE 0 0 0
o [EOMORRIRS 0 0 0
RNz (8) 434, 468, 245 45, 410, 000 389, 058, 245

B [=xamEAE 10, 000, 000 20, 000, 000 -10, 000, 000
| |&EsnmE 0 0 0
0| |ExaEsiie-nsE 0 0 0
wr| B | B S SR S AR (RH1%5) 0 0 0
| B & S R TR S B T4 424, 468, 245 25, 410, 000 399, 058, 245
piE= LS 0 0 0
ZOfDHERIIE S 807, 160 0 807, 160
45RIBEMAE (9) 435, 275, 405 45, 410, 000 389, 865, 405
TERIEEESE (10) = (8) — (9) ~307, 160 0 ~807, 160
LHPEENERELE (11) = (7) + (10) =65, 028, 867 8. 367, 859 =73, 396, 126
e iR EE SRR (1 2) =62, 471, 157 ~70, 839, 616 8, 367, 859
= [ERRESMEEIEEALE (13) = (11) + (12) ~127, 500, 624 =62, 471, 157 =65, 028, 867
= [EASEEHE (14) 0 0 0
2 |ZOMOIETTSEIERRE (1 5) 0 0 0
" [ZOMOETTSTETEE (16) 0 0 0
o RERBHIEBIEREESE (17) = (13) + (14) + (15) — (16) -127, 500, 624 =62, 471, 757 =65, 028, 867

11




